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nel= A[n_] :=
{{2, 1,0}, {1, -2, -2}, {2, 0, 1}}.{{8An, O, 0}, {0, (-1)An, 0}, {0, O, (-1)An}}.
{{2, 1, 2}, {5, -2, -4}, {-4, -2, 5}}/9

4.77219x108% 2.38609x 108 4.77219 x 108 4.77219 x10% 2.38609x 108 4.77219 x 108
ou20l= | 2.38609 x10%8 1.19305x 108 2.38609 x 108 2.38609x10% 1.19305x10% 2.38609 x108
4.77219x10% 2.38609x10% 4.77219 x108 4.77219 x10% 2.38609x 108 4.77219 x 108

3= MatrixForm[A[n]]

Out[23]//MatrixForm=

S (5 (~1)m+22030) & (22 (-1)m+2130) L (o4 (-1)P 422030
;-_(_2 <_1>n+21+3n> ;_(8 (_1>n+8n> ;—_(_2 <_1>n+21+3n>
S (-4 (-1)m2270) L (22 (-1)742130) L (5 (-1)7 42237

n4= B[n_] := {{2, 1, 0}, {1, -2, -2}, {2, 0, 1}}.
{{8An, 0, 0}, {0, 0, 0}, {0, 0, 0}}.{{2, 1, 2}, {5, -2, -4}, {-4, -2, 5}} /9
n21:= MatrixForm[B[n]]

Out[21]/MatrixForm=

L 92+43n L 91430 1 92+3n
9 9
1 5143n 8 1 5143n
9 9 9
L 92+43n 1 9143n 1 92431
9 9 9

in41]:= N[MatrixForm[A[3]]]
N[ MatrixForm[B[3]]]
Out[41])/MatrixForm=
227. 114. 228.
114. 56. 114.
228. 114. 227.

QOut[42]//MatrixForm=

227.556 113.778 227.556
113.778 56.8889 113.778
227.556 113.778 227.556

in39)= N[MatrixForm[A[10]]]
N[ MatrixForm[B[10]]]
Out[39)/MatrixForm=
4.77219 x10% 2.38609x10% 4.77219 x108
2.38609x10% 1.19305x10% 2.38609 x10°8
4.77219 x10% 2.38609 x10% 4.77219 x 108

Out[40]/MatrixForm=

4.77219 x108% 2.38609x10% 4.77219 x108
2.38609x10% 1.19305x10% 2.38609 %108
4.77219 x108% 2.38609x10% 4.77219 x 108




2 | Untitled-1.nb

ingsl= N[MatrixForm[A[10] -B[10]]]
Out[38]//MatrixForm=
0.555556 -0.222222 -0.444444
-0.222222 0.888889 -0.222222
-0.444444 -0.222222 0.555556
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